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log (L*/L* u) TUBsRGB HelligkeitL*  normiert
für die Umgebungshelligkeit L* uL*/L* u

−0,568

0,301
log [(L* /L* u)]=0, mu=0,43

L* u=50, Yu=20

L* = s (Y/Yn)n − t (Yn=100, s=100, n=(1/ln(10)), t=0) [1b]
L* = r (Y/Yu)n − t (Yu=18, r=s(Yu/Yn)n = 47,45) [1c]

L*/L* u=(Y/Yu)1/ln(10) (ln(x)=ln(10) log(x)) [1d]
log(L*/L* u)=(1/ln(10)) log(Y/Yu) [1e]
ln(L*/L* u)=log(Y/Yu) [1f]

L*/L* u= elog(Y/Yu) [1g]

Anwendungs-
bereich
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log (∆Y/∆Yu) CIE-Normfarbwertdifferenz
∆Y normiert für ∆Yu∆Y/∆Yu

−0,739

0,391

log[(dY)/(dYu)]]=0, mu=0,56
Yu=20, dYu=0,93, (dY/Yu)=0,046

L* =100(Y/Yn)1/ln(10)  (Yn=100, Yu=18, 1≤ Y ≤100) [1d]
dY = (2,4Yn/100)·(Y/Yn)(ln(10)−1)/ln(10) [2d]
dYu = ln(10)·(Yu/Yn)(ln(10)−1)/ln(10) [3d]
dY/dYu = (Y/Yu)(ln(10)−1)/ln(10) [4d]
log(dY/dYu) = {(ln(10)−1)/ln(10)} log·(Y/Yu) [5d]

Anwendungs-
bereich

ggz90−7a
−2 −1

0,1

  0

  1

  1

 10

  2

100Yu=18

logY
Y −1

   0 1

   1 10

   2 100

log [(∆Y/Y) / (∆Y/Y)u] CIE  Y-Empfindlichkeit
normiert für ∆Yu/YuSr /Sru=(∆Y/Y)/(∆Y/Y)u

0,568

−0,301
log[(dY/Y)u/(dY/Y)u]=0, mu=−0,43

Yu=20, dYu=0,93, (dY/Yu)=0,046

L* =100(Y/Yn)1/ln(10)  (Yn=100, Yu=18, 1≤ Y ≤100) [1f]
dY/Y = (2,3/100)·(Y/Yn)1,3/2,3 [2f]
dY/Y = c·Y−1/2,3 [3f]
dY/Y = d·(Y/Yu)−1/2,3 [4f]
c = 0,170 d = 0,872 [5f]
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log[(Y/∆Y) / (Y/∆Y)u)] CIE  Y-Kontrast
normiert für Yu/∆YuCr /Cru=(Y/∆Y)/(Y/∆Y)u

−0,568

0,301
log[(Y/dY)u/(Y/dY)u]=0, mu=0,43
L* u=50, Yu=20, dYu=0,93, (Y/dYu)=22

L* =100(Y/Yn)1/ln(10)  (Yn=100, Yu=18, 1≤ Y ≤100) [1h]
Y/dY = (2,3/100)·Yn

1/2,3Y1,3/2,3 [2h]
Y/dY = e·(Y/Yu)1,3/2,3 [3h]
Y/dY = f ·(Y/Yu)1,3/2,3 [4h]
e = 587,093 f = 3007,521 [5h]
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